
Answers to Exercise 7.3 
Reactions of Aluminium and Aluminium Oxide 

 
 
1. [𝐴𝐴𝐴𝐴(𝑂𝑂𝑂𝑂)4]−(𝑎𝑎𝑎𝑎) 
 
 
2.   
(a) 2𝐴𝐴𝐴𝐴(𝑠𝑠) + 6𝐻𝐻𝐻𝐻𝐻𝐻(𝑎𝑎𝑎𝑎) → 2𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶3(𝑎𝑎𝑎𝑎) + 3𝐻𝐻2(𝑔𝑔)   
(b) no reaction  

HNO3 is an oxidizing acid; as such, it cannot penetrate the passivation layer of Al2O3 on 
the surface of the Al so there is no reaction 

(c) 2𝐴𝐴𝐴𝐴(𝑠𝑠) + 2𝑁𝑁𝑁𝑁𝑁𝑁𝑁𝑁(𝑎𝑎𝑎𝑎) + 6𝐻𝐻2𝑂𝑂(𝑙𝑙) → 2𝑁𝑁𝑁𝑁[𝐴𝐴𝐴𝐴(𝑂𝑂𝑂𝑂)4](𝑎𝑎𝑎𝑎) + 3𝐻𝐻2(𝑔𝑔) 
(d) 2𝐴𝐴𝐴𝐴(𝑠𝑠) + 2𝐾𝐾𝐾𝐾𝐾𝐾(𝑎𝑎𝑎𝑎) + 6𝐻𝐻2𝑂𝑂(𝑙𝑙) → 2𝐾𝐾[𝐴𝐴𝐴𝐴(𝑂𝑂𝑂𝑂)4](𝑎𝑎𝑎𝑎) + 3𝐻𝐻2(𝑔𝑔) 
 
Net ionic equations are also acceptable: 
(a) 2𝐴𝐴𝐴𝐴(𝑠𝑠) + 6𝐻𝐻+(𝑎𝑎𝑎𝑎) → 2𝐴𝐴𝐴𝐴3+(𝑎𝑎𝑎𝑎) + 3𝐻𝐻2(𝑔𝑔)   
(c) 2𝐴𝐴𝐴𝐴(𝑠𝑠) + 2𝑂𝑂𝑂𝑂−(𝑎𝑎𝑎𝑎) + 6𝐻𝐻2𝑂𝑂(𝑙𝑙) → 2[𝐴𝐴𝐴𝐴(𝑂𝑂𝑂𝑂)4]−(𝑎𝑎𝑎𝑎) + 3𝐻𝐻2(𝑔𝑔) 
(d) 2𝐴𝐴𝐴𝐴(𝑠𝑠) + 2𝑂𝑂𝑂𝑂−(𝑎𝑎𝑎𝑎) + 6𝐻𝐻2𝑂𝑂(𝑙𝑙) → 2[𝐴𝐴𝐴𝐴(𝑂𝑂𝑂𝑂)4]−(𝑎𝑎𝑎𝑎) + 3𝐻𝐻2(𝑔𝑔) 
 
 
3.   
(a) 𝐴𝐴𝐴𝐴2𝑂𝑂3(𝑠𝑠) + 6𝐻𝐻𝐻𝐻𝐻𝐻(𝑎𝑎𝑎𝑎) → 2𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶3(𝑎𝑎𝑎𝑎) + 3𝐻𝐻2𝑂𝑂(𝑙𝑙)   
(b) no reaction  

HNO3 is an oxidizing acid  
(c) 𝐴𝐴𝐴𝐴2𝑂𝑂3(𝑠𝑠) + 2𝑁𝑁𝑁𝑁𝑁𝑁𝑁𝑁(𝑎𝑎𝑎𝑎) + 3𝐻𝐻2𝑂𝑂(𝑙𝑙) → 2𝑁𝑁𝑁𝑁[𝐴𝐴𝐴𝐴(𝑂𝑂𝑂𝑂)4](𝑎𝑎𝑎𝑎) 
(d)  𝐴𝐴𝐴𝐴2𝑂𝑂3(𝑠𝑠) + 2𝐾𝐾𝐾𝐾𝐾𝐾(𝑎𝑎𝑎𝑎) + 3𝐻𝐻2𝑂𝑂(𝑙𝑙) → 2𝐾𝐾[𝐴𝐴𝐴𝐴(𝑂𝑂𝑂𝑂)4](𝑎𝑎𝑎𝑎) 
 
Net ionic equations are also acceptable: 
(a) 𝐴𝐴𝐴𝐴2𝑂𝑂3(𝑠𝑠) + 6𝐻𝐻+(𝑎𝑎𝑎𝑎) → 2𝐴𝐴𝐴𝐴3+(𝑎𝑎𝑎𝑎) + 3𝐻𝐻2𝑂𝑂(𝑙𝑙)   
(c) 𝐴𝐴𝐴𝐴2𝑂𝑂3(𝑠𝑠) + 2𝑂𝑂𝑂𝑂−(𝑎𝑎𝑎𝑎) + 3𝐻𝐻2𝑂𝑂(𝑙𝑙) → 2[𝐴𝐴𝐴𝐴(𝑂𝑂𝑂𝑂)4]−(𝑎𝑎𝑎𝑎) 
(d) 𝐴𝐴𝐴𝐴2𝑂𝑂3(𝑠𝑠) + 2𝑂𝑂𝑂𝑂−(𝑎𝑎𝑎𝑎) + 3𝐻𝐻2𝑂𝑂(𝑙𝑙) → 2[𝐴𝐴𝐴𝐴(𝑂𝑂𝑂𝑂)4]−(𝑎𝑎𝑞𝑞) 
 
 
 


